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fEE | AR | A K 4 SEE E gk | K 4 SEAE E gk | K 4 SEE E gk | K 4 SEAE E gk |7 K 4 SAE E gk |4 K 4 HAE & || K 4 HAE & | K 4 E
B4 S JRE B4 S JRE B4 SRR B4 SRR B4 S JRE B4 SRR B4 SRR B4 SRR
100m 47 [10[ 1 EE 5 2 11.39 2FEE = 2 11.40 3THE FEAE 2 11.42 4l KAy 2 11.48 || 5ilil  HEA 1 11.55 6 K% N 2 11.56 TR iR 2 11.60 8L A 2 11.66
8| &S 2 -3.0 A 3 -3.0 EPN T 4 -3.0 #l A AL 5 -3.0 s 4 -3.0 HFHE B 3 -3.0 HH TR 6 -3.0 T 1 -3.0
200m | 48 |10 1A FHW 2 2228 24 fEE 1 22.31 RIS 2 2243 4LH & 2 2251 | 5i%eAT HHE 2 2254 6 HEA 1 22.77 ES ] 2 2294 8! KE {H 2 23.04
9| AFk 4 -0.3 gt 1 -0.3 A 3 -0.3 g 3 -0.3 ) K e 4 -0.3 52 3 -0.3 & 2 -0.3 AT 3 -0.3
400m 48 |10 14w fEE 1 49.34 2R Eh 2 49.55 SHEH EN 2 49.95 4/NE E 2 50.05 | 5ilLiEH Hik 2 50.10 6 2eht FHE 2 50.24 TiHEN 2 2 50.78 8 MRS 2 50.85
1) s 1 U 1 # )T A 6 NET 6 G 3 PN 4 HOL 1 PRt 3
%1 800m 48 |10 1id5pk Eth 2 1:55.37 || 2iFM &R 2 1:55.53 || 3iFnH H 2 1:56.17 || 4B B 2 1:57.05 || 5N EK 1 1:57.44 | 6/ % fhth 1 1:58.74 | 7iE &0 2 1:59.65 || SifEE YUFARH 1 2:00.12
9| iEm 1 Gt 3 FElE A 1 HoESHRE 1 TR 6 NET 6 #B i 2 5E 6 PRt 3
1500m | 48 |10| 1A% #hth 1 4:02.54 | 20850 i 2 4:04.63 || 3iuA JREE 1 4:04.97 || 4B FHEE 2 4:07.00 | 5i&F JRE 1 4:07.74 || 615H R 2 4:08.42 || TIREF Hl 2 4:10.03 | 8IHEE WUZ 2 4:10.71
1| INETF 6 HlS P 2 PR 6 A1l 4 NET 6 ATk 4 IEH [ 1 HlS P 2 PR 6 8 AR 4
5000m | 48 |10| 1/~ Bz 2 15:16.42 | 2iBH: B 2 15:18.79 | 3imtE —3C 2 15:25.18 | 4i/bk BER 2 15:31.60 || 5i/NER Hi— 1 15:33.03 || 6i&+ JnEF 1 15:35.91 | TR #UE 2 15:42.30 | 8i4IR Hi 1 15:46.97
9| KA 3 AP ikiE) 1 NET 6 HE 1 TR 4 TR 4 8RR 4 AKX 4
110mH | 28 |10 1JHKH #K 2 14.85(-0.8)| 2i1uIEF 15 2 15.60 RILAu 4 2 15.66 4ikE 3 1 15.82 5 FnNH AR 1 16.01 6UHTH E 1 16.29 THEL K 2 16.62 SIEH: 1HT 1 16.98
9| iH 4 K& AR 6 -0.8 HOR 1 -0.8 AT AR A 6 -0.8 B — 5 -0.8 HORLE 1 -0.8 ERLNESN 1 -0.8 WA 6 -0.8
400mH | 34 |10 1iffEF & 2 53.68 2EH: A 2 54.72 3K ik 1 54.95 41970 fi 2 55.73 51 H KA 2 56.74 Girf 2 57.15 TR il 2 58.03
81 HAR 1 Kewae #WAA 6 HOL 1 HOL 1 H ST 2 H | 2 HORHE 1
3000mSC| 22 [10f 12 % 2 9:43.36 | 2iEY B 1 9:48.10 | 34 —X 2 9:53.15 | 4k JREE 1 10:02.14 || 5:NE X 1 10:06.67 | 6 ka4 iip 2 10:07.01 | 749 & 2 10:09.21 | 8iffF B 2 10:16.33
8| FHEKRZFERE 3 TR 4 HAHERR A 5 AT 4 i % 5 ANl 5 1L 3 AFIL 4
500084 12 |10 13%AK &% 2 22:54.01 | 2iJE0 B 2 27:02.80 || 3ighA A 2 27:21.41 || 4iH FE 1 27:48.90 | 5idbil 1 27:51.82 || 61y)Il &R 1 28:46.31 || 7Ti/E# HERR 2 28:51.34 || 8iFHEE BEN 2 28:58.44
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4% 48 |10[1 TR 3 2 HORL 3 wWHA 6 4 BB 1 5 Sk 4 6 LS NE 3 7 L oNI] 6
100mR 1| HE pERE 2 THT Bk 1 A BX 2 JID $= 1 B RE 2 EMH fhth 1 AN TR 2
ANBR e 2 41.83 Sl A 1 42.70 HE 2 2 43.01 [l B A 1 43.16 JILE B 2 43.17 HHE s 2 43.34 R EnHR 2 43.37
b HEA 1 HR 2 2 VEH: o 2 KEF = 1 I #ES 2 (A 1 Rk 2
A ik 1 P 2 = Eh 1 Ei 2 JIAN #K 2 i BA 1 AN PN 2
4% 48 |10 1 At 1 2 wWHA 6 3 it 3 4 & 3 5 g 3 6 HFE 2 PE 6 7 SRR 4 8 IRAE NG 3
400mR 9| iedWm KEE 1 VEH: o 2 LI 1 NA 2 #HH EA 2 hEE R 2 ik K& 2 KEF HH% 2 W EE 2
Ak 2 3:18.59 AR BX 2 3:22.76 TERE AR 1 3:23.20 R = 2 3:23.96 /SIS PN 2 3:26.14 Wit 3L% 2 3:26.19 o R(AIE 4 2 3:27.71 BT R 2 3:27.80
HR 2 2 BH HE 2 A ik 1 (S 2 HK R 2 T4 o 2 MR s 1 FHH ti— 2
P 2 Gi N S 07 2 SR REK 1 i 2 AT 2 By & 2 A B 2 3 BN 2
Embk | 42 [10] 1ZEE B 2 1.94 20 2 1.94 S TR 2 1.88 4iZEHE s 2 1.85 5 %A Bk 1 1.80 5l 2 1.80 TR RS 1 iEvk w1 I R 2 1.80
8| b 4 BN 4 HOL 1 #B 5 #H A 6 BRI 5 AT 5 FHBE 3 {EE 3
WembE | 5 |10f 1idk gEpE 2 4.10 2R HEE 1 4.00 BRI N 2 4.00 4R A 1 3.70 5 AR MR 1 3.40
1) s 1 U 1 kYl 5 #H A 6 Al ST 2
EEBE | 48 [10] 11LR fF 2 6.51 iRt sk 1 6.42 SR itk 2 6.37 4N BEE 1 6.32 58 2 6.31 628 sk 2 6.28 TR 1 6.19 81 = 1 6.17
N 6 -1.4 AR 6 -0.6 H % 6 0.0 3 3 -0.4 iRNGAL 34 4 -1.0 HE T 5 -0.1 E AR 5 -1.0 HB B 1 -0.1
ZEEEE | 45 |10 1R 2 13.77 20EB Bt 2 13.64 3N Eih 2 13.34 4B & 2 13.32 5% iM% 2 13.07 6iER BR 2 12.91 Tl b 2 12.88 SIAKT Mk 2 12.75
9| iHrEZEE 6 -0.2 NEF 6 1.5 FRHEFn 6 -1.5 R 1 0.1 % 6 1.5 R T 5 0.2 Hil AR 5 -2.7 AR 6 -0.9
T mALE | 46 |10 1At SR 2 14.27 2IFKA HAS 1 13.90 3N 2 13.28 LR EA 1 13.10 58 Fh 2 13.06 GikaA (= 2 13.00 T BK 1 11.84 SiHE 5 1 11.76
1 ERLYE 1 pisERERE ik 3 BT 6 ) 5 2 ] 4 L 1 HOL 1 HOIFSHRE 1 NET 6
Mg | 48 |10 1igdk 75°F 2 43.98 2RKA HoAs 1 43.37 3Pk 2 4270 417PH B 2 41.16 | 5ikfH B 2 39.40 bR [ 2 39.23 T A 2 35.33 8IRIE A 1 35.27
9 SR NE 1 D2 3 Sk 4 HOL 1 HF T 5 HOL 1 AR 2 NET 6
rue=$| 29 [10| 1HEAKY < 2 51.33 20 K% B 2 48.48 RIS N7/ 2 47.51 Ty | 2 47.04 5 M Bith 2 44.28 6iEA At 2 38.14 E=S =S 2 37.75 8 fhE 2 37.44
| S 3 dERSEE RN 3 Ot 1 PR3 3 i 3 INFETFER 6 EEN-Al 2 A 3
R0 | 48 [10| 1iFFAR R 2 57.45 PHIN 2 56.96 i —K 1 52.11 AR AR 2 51.00 SR FE 2 49.65 6ifliERE B2 1 48.77 7ML R 1 45.82 8 LA 90T 1 45.62
8 EEN=Al] 2 AR HAFN 6 HOL 1 EEN=Al 2 HB i 2 E 6 L PNIE 4 HOL 1 HERE 2
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KEBEATF L[ 74— /L] 1O 1 50 PHE S 3 23 3 A S R 6 22 4 BRI 3 21 5. A RHER 1 16 68T A 6 15.5 7 R HKFR 6 15 CHEpNAI 2 15
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% 58 [ HAURBE AR ARE EBERs Bk -BER PHIS4E10H 1 H (H) -8H (H) -9 (5D) FH T B
i | A 1 fir 2 fir 3 fiL 4 fir 5 fir 6 fir 7 L 8 fir
ME | AR |\ |6 K 4 SAE G Gk |4 K 4 = il S RDA K 4 SAE G Gk |4 K 4 AR G Gk | K 4 SAE G Gk |4 K4 SAE G Gk |4 K4 AR G Gk |4 K 4 5 gk
4 Ga 5 4 Ga 5 4 Ga 5 4 Ga 5 4 Ga 5 4 Ga 5 4 Ga 5 4 Ga 5
100m 47 |10| 1Rl HiE 2 12.58 2GR ¥ 2 12.62 3iEF R T 1 12.69 4R K1 2 12.70 || 5: Tk R¥ET 2 12.71 6ishAR HEE 1 12.91 THA ik 1 12.93 8 Ak 2 12.96
8| INFEF 6 -1.2 w204 3 -1.2 w204 3 -1.2 S 4 -1.2 AR 1 -1.2 BB 1 -1.2 =kiA 6 -1.2 ZFERE 5 -1.2
200m 48 |10 1@ sk 2 25.59 2iffE K1 2 25.73 3G ¥ 2 25.80 L5 RE B 2 25.87 | 5iEFH ARAC T 1 26.03 61 Mk RET 2 26.16 TSR BEE 2 26.18 8t 3¢ 2 26.56
9| ZEERE 5 1.2 S 4 1.2 w204 3 1.2 & 2 1.2 w204 3 1.2 ATy 1 1.2 BBy 1 1.2 L) 2 1.2
400m 47 |10| 1A B 2 57.13 2 00 R 1 57.41 3R A 2 58.30 4R EE 2 58.73 | 5ilfAk FEfH 1 59.40 6% KET 1 59.58 TER AR 2 59.74 8B JFRAC 2 59.90
i IE2 PN 5 G % 5 HOL 1 H ST 2 RS 3 HOL 1 HUT AR 3 KB 5
7| 800m 47 10| 1L EF A% 2 2:16.10 | 2idfAk FEAE 1 2:18.78 | 3°FH WAL 2 2:19.29 || 4imE ¥ 2 2:19.89 | 5K Rk 2 2:21.83 | 6 e 2 2:23.79 | TiHE AR 2 2:24.22 | 8iETF HE 2 2:26.05
9| K 1 RS 3 L 1 AT 5 #H R 1 #i AL 2 rE 6 B LB 6 RS 3
1500m | 47 [10] 1i80 2% 1 4:39.07 | 20Kk {1 1 4:40.75 || 3igHk £E 1 4:42.49 || 4 FRA 2 4:44.47 | 5iKHE FXTL 2 4:44.72 | 621 Gk 1 4:45.46 || Timsl 22 2 4:47.69 | 8IEEF EH 1 4:47.77
1 NER 3 HOR T 1 J\ET 6 NER 3 3R 2 s e 4 AR B 5 HR— 6
3000m | 48 |10| 1:fgEEk £ 1 9:48.42 | 2Kk fEHtT 1 9:57.39 || 3 MG =FE 2 10:01.16 | 4ik21L E#k 1 10:11.49 | 5ithpg H9 2 10:12.09 | 6i/hA ST 2 10:16.48 | 7imfE HLT- 1 10:27.10 | 8 I Z2fs 2 10:39.92
9l NET 6 T 1 AT 4 E 4 4 NET 6 JER 3 NET 6 AT 5
100mH | 32 [10[ 1isgl PEE 2 14.39(-1.0)| 21 {hfE 1 14.78(-1.0)| 3: Mg &L 1 15.31 4K HESE 2 16.04 || 5 HBk KT 2 16.05 60 Al t 2 16.13 TR Em 1 16.28 8k BT 2 16.67
9| INFEF 6 K&gms HUR 1 REEney| RSO 3 -1.0 BBy 1 -1.0 BBy 1 -1.0 AR HRFN 6 -1.0 BB 1 -1.0 Ot 1 -1.0
400mH | 36 |10 1i&8F 3£ 2 63.02 20E L 1 63.22 3G AR 1 63.88 4iffpE E T 1 64.80 | 5iEE /NEA 2 66.61 6 FHEE A 2 67.40 T BT 2 68.01 8 FH 2 68.17
8| HBENLHTH 2 HOL 1 il 5 5 # ST 3 NET 6 AR 2 Bt 4 HI s 5 NET 6
300054 | 8 10| limfl HLZS 2 14:52.86 || 2iZHk FEAH 2 15:11.13 || 3iEJI e 2 15:42.91 | A{E HA 1 22:30.31 || 5i211 W 1 24:16.85
1) HEUE 1 HORL 1 HORL 1 it 6 it 6
4% 48 |10[1 JTEWiad 3 2 AR5 1 3 =Fi 6 4 WA A 6 5 HR 1 6 NEF 6 7 AN 6 8 ERuNES 1
100mR 1| B3R ¥ 2 Al = 2 ke HE 2 AR B 1 NI P e 2 T TH 2 Hem Fn 2 JIA digk 1
BRI JFRAL T 1 48.68 R R¥T 2 49.02 FA LRk 1 49.27 R A 2 49.87 EH A 1 49.99 Rl PR 2 50.00 HO KT 2 50.86 sLH FERLE 2 51.17
i W 2 KL B0 1 FNEE SV 1 0 Heh 2 T (KE 1 B i dr 1 JER Tpohn 2 K Bl 2
=2 Y5 1 sk EE 1 T AKH 2 s EEF 1 ViR KET 1 B ARAL 1 A E 2 K BRE 2
4 42 |10[1 W 1 2 NET 6 3 BT 3 4 A 6 5: #BRNHTH 2 6 AR 4 7 LEEE 2 6
400mR 9| iEHL thfE 1 SR PR 2 BT OH%E 2 AR B 1 bavE ERE 1 flig K1 2 oK B 1
RBF B3 2 3:54.73 B i dr 1 4:01.43 6 2 4:02.11 b ETE 1 4:06.28 KEF 2 4:06.54 HiE T 1 4:09.18 L A 1 4:10.86
ANITNEEF RS 2 P TH 2 KA T 2 FEAR Tkt 1 [P S 1 e HHE 1 e TG 2
TR KET 1 A fREL 1 WA R 1 PR AR 2 Nl Zia 1 SR VA 2 I BdpE 2
Empk | 46 |10 1B BREF 2 1.62 2R ARAY 1 1.59 SR JPRELZR 2 1.59 4IBFAR AOME 1 1.56 5 Rl ACH 2 1.56 6i1lin fEL 1 1.53 TUINK Bt 2 1.53 8UAA A 2 1.50
9| HBEMYS 1 NEF 6 HOL 1 HOL 1 EifE 6 B 22 5 HOL 1 # Ak 6
EEBE | 46 [10] 1A #aFd 1 5.60 2VE) 2 5.36 RN 1 5.35 NEZNE 3 i3 1 5.30 5% HRFE 2 5.28 6 8A HY 1 5.28 T B RS 1 5.23 8N BT 1 5.14
1| IANEF 6 2.4 ARy 1 2.5 O 1 1.2 A ST 3 3.9 BB 1 0.1 s 4 1.9 # )T A 6 0.9 A 4 1.0
Fafue | 48 |10| lighA Flk 2 13.25 23t hFED 1 11.91 RIEIZ L vl 1 11.42 LHIR ERT 2 10.86 || 5if f&FD 2 9.99 6 A B 2 9.92 TR SR 2 9.73 8IAN fE 2 9.35
9| | KE&HRe i HT 1 R 1 NEF 6 B4 bl 4 # Ak 6 H AT 6 ABER 1
T-| PR | 40 [10| 1IHIR kT 2 33.01 2T KHEFE 2 31.84 | 3ER EE 2 31.80 | 4FFZEEF 1 3161 || 5i % ARE 2 3099 | 6iRA EHET 1 30.77 | TifERE i 1 30.36 || 8i=4F & 2 29.69
81 NET 6 NEF 6 # Ak 6 HORL 1 )T A 6 A i fe 3 HOL 1 )T A 6
0P | 43 10| 1iEA BET 2 39.41 248 HFE 1 38.65 | 3iIFE BBE 2 36.20 | 4iHK XM 2 3292 | 5iEE BT 2 3269 | 6N HHEZL 2 3110 | THLE AKFLE 2 3098 | 8ilH & 2 30.86
1 RBHCRRN 6 HOL 1 G 4 HlE 2 PE 6 L eNi 4 INFEF5EE 6 Hil AR £ 5 ARk L 5
 y S IES 1 63 20\ FF 6 51 3 bRy 3 49 4 HRE 1 30 5 ZRERM 5 17 6 4 I LT 2 17 TIER 3 16 8 A K 4 15
AT | 74— V| 1O 1 54 20\ET 6 35 3B 1 19 440 Bk 6 10 Nl 6 8 6 A 6 7 707 4 6 8 ST 3 5
7 wa IES 1 117 2 \FF 6 86 3 bRy 3 49 4 HRES 1 49 5 ZRERM 5 17 64T & LT 2 17 THA A 6 17 CHIEPS 3 16
LEkE(T ol - R w
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